mmna 1PNAN MY 5385 1T

20017 A"YUMINOP Dan TYin TPAD TIVND
314,035804 YR 1500
TYPD MM 479 MRNOM 97 FI9D)

AP°0NNN
| PRI PNORY — TH TR 4
N30 IR
XM MYV VDY arnanqun X

DOPID IO AT PONYI 02NN NNaM PYNWA Ay A

SPODIR PI0NING, TIIOR — NUNI P2
MNPy 40 — 20x2 — MIANoN
PIVDHNIVT PIOMIKY  — MY PO
mmpy 200 — 20x1  — MYINa )
MNP) 40 —  20x2 — DNOPRIMNONIINT PNIUN —  Syrdy 779

TIOYPNO D, D119 Yy

YN NPYPN e ipbivyd
mnpy 100 — 7o

WO AN /Y BN
JNIDNT 1IN NIAYNNI TNINN NPIIWORT WHRWAY PROOMNI Pavnn (1)
IPNIN I2097 DYNG D9V NAVNNA MIDNA NPIWORT IN 2973 NIAYNHI LIDPY

ADamwn) mrnonsat  (2)

INTINVPH MRNA .7
T30 7I90D NX YA ;719RWA DR PPN SR (1)
IWRD D) NINON 35V AR NIANNI DIWA.WTH Ty nORY 93 SRR (2)
' J13WND 1Y DPYRIAND DWIN
STV AMII AN DYPAI, 18N 5919, pIinys 93 IR 1105
TPNAN D200 N ¥ AYa95 0115 Y19V DY1S 19N
DPIIVNN 0 NP2PY D291 IN 13NN TR0 WRWAS v Appob (3)

SPNIAN N0 D115 Y1HY RINN A0 122)aRl0)

STAND D2IN2IY 71990255 7139993 991 P MNown M ORGI PPRIFN

inYyaa
/977 12y qwnn/



LoTi+ 314, 035804 'Oy YW Ve nDsonnn ~2-

PNwA
A3 NI 01T, 503N S0, PIEIYs b9 fi 9a0a 199 BOw

FIPRIN IO W 1PN DY IaY DI B15Y 010D T80

(mmp340)  THIINTT ,HO0IN HIOHING ,AVDITR — JIUNT Pl
AWM 20 — e YY) 3-1 mvRwA Yo Denw by my

CFTIANGY THNWRIN MWD 1Y 2719722 IR TV 0P 9y 159 08 139 59w

SWURNIMKD A PYD,IPRona TR 99 i 901 MR ]
By A vy nvo nnox

‘me 9N LC Yo A pun vo SR YN

C A . B

NP 60 20 B Py A vy papninn
DRI DY PO MTIBN 1.5 %9 Ama) AT INIR Sy DI MY
PP TN TIT DD W0 0w

CC Y A Py Papnmngm 40%  9xox 11y B eyl nmbaenwaan awxo

2C Y2 A PYPIpmmN L X
B 1y ambr nynianw 9nrY fvw C Y v SRR A

ORI DY I YA IR Ao

/3 Tynya qenty/

@



4 C9,—- 5 B(~2,1) mnpim
MGG, -4 e avn Yy MRy
DOYUP MW ORI 2aynd YINnY , A iRm0

SNARImnT, C -1 B mmipda ayn opwnn

CACTT AB mowen mmown iRy (3R

A MR R Nen (2)

X CAM yopn TR R Exn (1)

i

DO Da9HN INNYD N KYD (2)

CABM wbwnn ne

2avnin oy axgny C pmpnmorn (3)

JNYAR NN P 2INND MRV INY

JRAT PO T3P 20T T12IP.0M0YA 1R Yr0n qiinwn DI Bis pnvna
AP S5 2apn annwnn L 3 r0n RPN SYY 00n0 DN, INOUAN 10 TINR 903
AP PR ANNWHNT 3 -1 J0P 19000 ON, TP 10 Yapn qrinwnn 3 76 9171 19000 DX

T

2MA9Y MMPY 15 NN PRwn qnnwne INInvHT N

VY MY AYIY TR0 A0 N2 MNP 15 928 Dannwnn ThRY v .3
? 370 DvTy Trin Dy ST

PRUNI PRV DORNYD YN )

7INSY MTIPY 15 Thx 53 1738 DA 09w PrTaw MIanonm s

/8 Ty qwnn/



DYDY + 314, 035804 'Oy Y'ywn v . apronng -4 -

(MMP120) DI FFIOMININ TG IR — 23 399

5-4 oNYN 10 DNR SY My

AINNIY ANYRID DY 71 PTN 00K ORW Y DY My O 95 Doy

L<IBCD=90°, ABIDC ) 7 1w 19790 NiA ABCD 4

BC yo¥nqunn 9y nmipy aon B

A B BD noadws gmmn AE yopnw 1

.F ampame ymm

G P31 DC yopn nx mn AE

SIPN3 RINDD

D G He . LAEB=<BDC :nomn
E

.DC=BE »2ym
LADCB=AEBA now 2

.CB = 4CE »nm
-AGCE ~AABE 1m0 (1) 4

% DM NN RN (2)

/5 Ty Juniy



nows + 314, 035804 00 1YW VP 0 000N -5-

, AB yoxn by ninsny P nmipan ABC whwna

Ly AC vovn by ninmy MOampim

BVatel)
P \
AP =x
2 11T
A M c , PM = 0.6x

, SAMP =100° , <ABC ='120°

MC=pn"vil2 , AM=n"vD4

PAM mwn nxavn (1) R
BC yoxn e nnavn (2)

BM yopnynnnNavn 3

SA AMB L
TN DR Pny . 5 PN MNOY DN TN RX0D 2

ABMC

/6 Ty jwnn/

in

PSRN



f

mEUl+ 314, 03580400 SMYWN VD 0D 0nnmn -

o~
¥

]

AP ND T SDRIOP FTNEINDT PNAUH — 2ehw FI9

(MMP140) YNY NPLFINS DWW D308 NeYFns Sw
AT 20 — PN Y3Y) §-6 MYNWR 10 DY Sy Iy

k3

AT3NNIY MWK MAOWNN TY PRI IORY TIWD 1Y DY 3u0 DN 199 8y

o 2 +4
AN 0<a L I() =S5 mypyonanm L6

X" —a

SIMIN DTN a MYSHRG PINDIWN TN Y37 .8 990 9y my
A mypron by mmnnmnn arryn (1) R
Anro v or) e py £(x) rypnon T3 DV PIPNA MTIPIO MY INRYS (2)

E(X) pNen SY mpemNa WO ONA IR MY (3)

CX =1 IoIN oo or v £(x) mypey

.a NRNYD Bl

1-3 DPOWON DY 7YY 1 PYDA IINYDY a NN 1Y

P — NI DN DT — 13 DN 9T IPIIN 0090 DR W )y mypnsvong (1)
N0 AR YIAPY £(X) DYPNST D VPR RTIRI IW IR KD (2)
CE(X) YPNon Yy M 199Y0 YN NN YD (3)

) mypnongnbynwpo oo 7

P01 7 EE) =k nRownd pane pr k Yy ooy ik vy a

/7 Tya twnn/



NOW + 314, 035804 "o VYWR NP0 0NNG -7-
fxy= ——%**— mypnon anmy 7
vx+16

f(x) mypnon by mmnn mnnar N (1) N
(om0 v DR) D ran oy (X)) YRS G DY PIINN MM MY IR RO (2)
.
X)) TPEPNSN HY TR NDIODIORT DR XY (3)
(A9 v DR) F(X) TNPNAN DY TP Iy N N Ny (4)

LX< 0 mnna ) mEpnen gn v nvpo oo (5)

LX) = f(x) — 2 mypnon anm
g f

]

DPYN DY g(X) EPNoN I DY PINN MTIPI T Ry (1)
XS0 onna g(x) mYpNongn dw nwpu vvie (2)

DA P21 g(x) TPSPNAT R PIYANDD MOV IR N D

. (<I ABC = 90°) pvpw mwn ot e whwn n ABC 8

2 AEB mnv 1w whiwn 132 AB yONn by
AP wInny , AEB whwnn by amn i AB w
2706 N AEB wiiwnn Yy Dnawnn comN Do 00 N
LX 72 AR YINTTIN DN 00D
& B

CABC vivwnn now Nk X IYNmRI ¥In R

29 i AEBC yairmon now x DY T IPR Ay 3

& 952
innssns
DRI MYTED RTHY DN MY
NN TIWN NI RN DDIAY IN PPTIVN2 PR



